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An Introduction to Debating in English Book 1

SECTION 1. Rim&EBTEMMIZHDX B

CNETOEBT., Fmix 1 DSATRRAE—FEITRDELIDCIREDELRE. SEMNS. LIk
EFAR=—K50L,. BEVDERICHUTDELED TVLWEET, FTITWBHIC, hIHEDE
FBmarIBEHICIE. EORIRRmRET D ENEEULVDMERELET,

—AIC [FERMNFEITREUD ] EWDIRREER. RN EFOVDRN O TEIBEICEEET . fl
A ROFWHNDHOIZELFT,

B :EEDH: : English should be an official language(Z2F3E) of Japan.

[CD. Track # 10]

I strongly believe that English should be an official language of Japan. This is
because it would promote Japanese people to learn English more and enables
them to communicate with non-Japanese people more easily.

In Japan, the number of people who do not speak Japanese is increasing.
Some of them are travelers and some of the others are workers from foreign
countries. Because of the language differences, they have some difficulties in
communicating with Japanese people, which sometimes causes serious
inconveniences in daily life for them.

If English is made an official language, Japanese people will be compelled to
learn more English. Consequently, the number of Japanese who can communicate
with non-Japanese people would increase.

This plan is important as Japan can be more friendly to non-Japanese people.

For this reason, I beg to propose. (134 words)

REEZNRBEICTBINEL, LVWOmAICH L, ZDEARAEL T, REE
ZEZFEHANGREBEZLDERKDCRD, /> - Sv/)\Z-XDA
EFRDRAL—XCERDRBNTEDLDICRDINS, EFRENTL
F9. CORBRRICESRMULELL DN,
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Lesson 5. REFDILH

HELECTHERBIFITIRZLED TLDE, ZNIELICUTRBDDED T, BIDHERZ N
DIFTNBD L, DEDEEAIDIIGHZ L TVWSZENRETT .

BIZ(E. FEEDTLEDF v RILFENWZRBNWHUTHTLIZEV, [FERICITD TRIEES
BICDWVWTWIRWERD NS, RIZEFHARRTND RSIEBAZRIZV] & HIRIEHE
DIZEUET ., TNICHUT, BREA (BDWVHMBDOIHKE) (. TBRHNIELRWNE, F
CSEBVOILNIEFHRITDODT. ESUTHERFKFHMZEzRZV] ELWDHBEDZEZE. K
CEDSDTEHBWTULDND (BEVWFEEAN?). BEWVIC, RIEDEHVICHITDIRTZEBA
DKREIE, VOILRZIGET2RERZERUDL. BB (BEBSANLEDRINGE) o>
HICRO>TUESHELNEFBA. CNE. BEVDBEDDEWNDEITZEEL. HFDEMRIC

FHUTKRBZITD TLRWVWC ENERTY,

REENRECHIIERCRD S, PIRAE [REZLBAEICIDE, TR EDERZHAE L
SEED 2 AR ERER5T . ETEIX MM DOTRMRZ] Fid [REZLREE
9L BREMEMNCIRDOTRMIZ] EEVRULEELFET . INTIE BEWVCEDH
Bk, R DEBREBRRTIET T, BRMDHFEDTRECIEITHICREODTUEVNET,
ZNTE. ESTNERFOEVWDZENC LT, RBIDTEMNHERDIDTLL DN K
DEIELT, FIREUATORIZEDNHDFET .

B EmDH: : English should be an official language(Z2F3E) of Japan.

(CD Track #11]

ﬁprevious speaker argued that better English abilities allow Japm

communicate more easily with people who do not speak Japanese. Still, this is not

always true because there are a lot of non-Japanese people who do not speak
English in Japan. Actually, the majority of them come from Korea, China, or Brazil.
They do not speak English. If Japanese people really want to be friendly to people
from foreign countries, they should learn Korean, Chinese, or Portuguese more.

\\\\“‘L,_.~——~—~” (77 words) __~

CCTE>FET RimdIDEmMITHDON. 1 XETHECEEDT
LET, RIC. "notalways true because ~" EWSKIRT. [~&EWLD
AT I UBIELLRV] EFRICZDFEMDISREIEML TWLET,

BR#&I(C. “because~" ODHRBZLDFUSHBALTVET, COKICEE
(. BFOEADIFICW LT, ESUTHETETRLVDMIRN TR D
ENTEFEY,
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An Introduction to Debating in English Book 1

SECTION 2. RimdD I A —~X v b

CCFET., HFICRMITDEULT. RUDIBHVEIRRIIGHT DF L. HFORZEET S -
FHDE., TNTNXANTI2WENDDCEZ2HRLUELZ. #EZ. Rim (refutation,
rebuttal) EEVWF I (REEEWVWDEH UVWREBZED ABWVET ), TNTIIRIC. Rimz T Dim
BICERRI A - Y MZEBTUET,

KimzBLDLIC[d. FITUTD 5 BEADOKHDEZFNINDICERTHDIERNWTULLD

O RiEEnb T 42— wk

@ Not true (IITEL<HBDOFEEA)

@ Not always true (TWDBIEUWEERBRDFEEAL)

® Not significant / important ((EET(EHDEEAL)
@ Not relevant (B DEEA)

® That's the opposite (ZN(IFETI)

Yy

LFTIEEARIC. “Japanese government should abolish the death penalty” (BAERF
(FFERBIEZFEIL T DINE) EVDimEDBEERDZERCX LT, ENTND/\F—>Z2B0
TRaHZERUTVWEET,

® Not true ([IELL<HBOFELEALD [CD. Track # 12]

Argument | The death penalty should be abolished in Japan because it is a cruel
punishment(Z%ERXi8l).

Refutation | This argument is not true because the death penalty is not a cruel
punishment. Convicts(%fll&) are hanged in Japan. This gives them

minimum pain only for a short time.

ZDIF—=>(F BFORIETHLNSNZ, —RELWESND6aEZEET DT ET, il
DRNZLEDHDEDTY . FERFIEFRETHDIDTRELETINEL, EVWIBRICHULT,
ZAUIEL SRV BRERSBARDIEAMITOFE THIREM (L. &/I\ROFBHZFE B
S5X23DTHBINEE. ERmUTNET (REMDEXEECET IEEREFFIRODER .
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Lesson 5. REFDILH

fDOTEMBITFER. BRI EREMENRDHSNDMET DB ZIHLE U TN NUE L D)
KEw(C1I2dTUL &L D),

® Notalways true ([WDEBIEUWEFRRDEEAL (CD. Track # 13]

Argument | The death penalty should be abolished in Japan because it deprives
convicts of the chances to rehabilitate and feel truly sorry for the victims.
What the victims want is sincere apology from the criminals.

Refutation | This argument is not always true because what most of the victims and
their family members want is not apology from the bad guys but severe
punishments for them.

TERIHIE (SFERRD TEZIBOROD SIREE (CHITE I IMEEEDS, KEE ETDORKENER
LUL\DIFDHIBDHEITEIZ, COEMBICT LT, LWDEZED EFEXR RV, RBERSKKOWE
ESHEDDEESHSOBEIFETIIRL., MEANDEUWSIZERHBLUTWNETD,

® Not significant / important(lEE T(dH D FEHA L) (CD Track # 14]

Argument | The death penalty should be abolished in Japan because it causes
psychological harm to those who carry out the execution.

Refutation | This argument is not important because those who carry out the
execution are simply doing their job. They have nothing to be ashamed of
as they are giving justice. Also, if they do not want to do it, they can

simply quit the job.

FERMZHITI D ADBHIIREIENKENDT, FEMFRLESNBIREZEVWSEBICT LT,
CCTRENEFEECTE>RVWERRBLTNE T, FEM#ITIE. EREZRBESEICHICHER
EHETHD, ASHUDEDTIFRV. Fe. TOECEISNRTNE, BEFITDILE
TED. TORMSNTVET,

@ Not relevant ([BR&dDEEALD [CD. Track # 15)

Argument | The death penalty should be abolished in Japan because it was abolished
in Canada, UK, and most of the other advanced countries.

Refutation | It is not relevant. We do not have to abolish the death penalty simply
because it was abolished in other countries. Each country has different
needs and priorities. We do not have to simply copy what is done in other
countries. Instead, we should think about what is best for our society.

55




An Introduction to Debating in English Book 1

HFE . AFUREMDFTER (CHNWTELENTNDDT, HATEIEMFIESELTD
REZEWSHERD [BFRRV] ERBSNTVET . EEME. BREEATEXINE
Z. EFREHSNTVFET,

® That’s the opposite ([ZN(EFETT ) [CD. Track # 16]

Argument | The death penalty should be abolished because life is so precious and no
one should take away the life of another.

Refutation | I agree that life is important but the conclusion should be the opposite.
Nothing is more important than life. If one person takes the life of another,
they can compensate only with their life. Therefore, the death penalty
should be supported precisely because of the importance of life.

—BHNRNERmESNDDE. ZD "flip” CEFEND. BHFMNWIETHWZDEF Uds
- ARZAVT, 2<FEDFRZTDILETT ., ZITIE E@(HMIMEDERYTH DD
THEAFEFRELESNDAREEEVDERICH U T, ENLETKRURERZE>LEG. BS
DECDIMED ZENTE D TNECCZIRMHE (FFRINDINEL. ERBLTVE T,

SECTION 3. BIIRDO®BBE=ZEHIT B

ANRD/HD/ Y — B0 (CRFwE T DT EMHERNE. BWTHWBACEETERNDSZN

DTIH REDT « R— bORET(F. CORRICHIRE(CHEDD C L FR LUV EBNE T,
ZNTHIFIMR E LT, EERERBENG L BFNZDHEROH THEEDOA(CIE UV ERTHE -
BBRUTCVWDIREZIERI dRMDEHZBNTLET .

O MEFntkiFnatE - B H s +530d 2

Their argument is not true because it is based on a false assumption that ~.
[ESDERE. ~EWDRESLAHRICEDWVWTED., IELLHBDFELEAL

T F
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Lesson 5. REFDILH

BIZ(E, BOTRAGIERELICEAITDUTOEFEEZI T I
[CD. Track # 17]

Argument | The death penalty should be abolished because innocent people are
sometimes mistakenly given the punishment and hanged. Police
investigation heavily relies on confessions from suspects. In some cases,
police officers go too far and force suspects to make a false confession.
Based on this forced confession, innocent people have been given the
death penalty and lost their lives. If the death penalty is abolished, there
would be the chance of retrials. At least, we can avoid killing innocent
people by mistake.

TERFIENDD E BEDANUIEUFEED TRENTUER SO TIEATIEZREIETDIREZ,
EWVWDSERCTIN, AIRD/ -2 (CEHTEDHLDELTE. ABMNEHTEND 1 DITEE
VIADENERRVDTEERBWNWET, CORRIBZEESUEFELL DN, CDiEmIC(E. D
DR - BULIH(assumption)d N ET ., TORIHRZIRDIEM THDEIEMI D ET.
ZOfEREIRD THDERMLET . HIRE :

(CD. Track # 18]

Refutation This argument is based on false assumptions. First assumption is
that Japanese police may make mistakes because they put too much
emphasis on getting confessions from suspects. This is no longer the case
because the advance of scientific investigation, such as DNA testing allows
the police to conduct more reliable investigations.

Another assumption is that you cannot get retrials if you are given
death penalty. Even if you are given the death penalty, it usually takes
years before the execution is conducted. So, there are plenty of
opportunities to ask for retrials. If the person is truly innocent, it is certain
that he or she can be found not guilty through the retrials. Therefore, this
argument does not stand.

CC Tl 2 DOEHRMNEONTULE T, £9. BB CRESNICERZELCIECRID
NBEDABICTEANEESETND EVDFEHRICH UT. IREDEBE(E DNA EEE LD ERIZFE
HIRSECTEOTHED. NMDOTHOBAERICEDVWIBATORFEFRCSBRNWES > TWLE
9. RIC. RABITESNNEBEOEASN B ZOFEFRFLZBESERL). EVVDHHRCHL
T. PUTET(C(IBERIENDIEF NG D BEBFEROMRETED (CHD. LML TVET,
CDFRIC, MO I(CIFHIRD) F— > TEEFHRICHETE/RAED D (Z U TEBEDER
TEZDRBMDANZ VDT IN) . TORRIGETIFEFOREBDORICEETNTL\DRIHIED
MRDZIEMI B TRABNIHERET . TNTEERIC. RGEEXTHELL D,
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An Introduction to Debating in English Book 1

SECTION 4. Rim&m B X DEH

Taskl. REmDFTRIZDHER

1) Y. TNTNEERRROSEBDZEATT 0N,
2) T, HRBDHICKTEBDED [12E7125~] ZBAEFETEVWTT SV REIDFETRIEE &5
ERTESWET, * ENMD 1 DREFAER. EWDDITTESDFERA. [13ERS~ ] OEDHEDT

WEDZEATTFEU),
1) WEBO/NFR b8 (Try Again) MAZIRD T, FHAH(E. ROBFEWVET DT EFE TS,
Znlg: a.nottrue b. not always true c¢. not important
d. not relevant  e. solved easily f. the opposite
RERS.

2) EEmlRE I D EE. ARICERBA M RZEZ DT, ORI, @srzE)

Zn(E: a. nottrue b. not always true c¢. not important

d. not relevant e. solved easily f. the opposite

ANCEANEN

3) EAHDEEZH I CEF. EENBD THEDTEZZ TIRNZE TRLDT, WHES.

Zn(E: a. nottrue b. not always true c¢. not important

d. not relevant e. solved easily f.  the opposite

ANCEANEN

4) FEEBERY hOEFEZEBEALTERVDT, FEENRY MO EZFERTEILELLD., @sxs)

Znl(E: a. nottrue b. not always true c¢. not important

d. not relevant e. solved easily f.  the opposite

BERS,

5) BMEE. BMEECANTRENICIDRE, BMEGFTHD. BMEFRELELELD. @oxs)

ZhnlZ: a.nottrue b. not always true c¢. not important

d. not relevant e. solved easily f.  the opposite

BRERS,

6) NEANDBAREREDFHTEG, BWRRBEENHNDDTLHRS. wrxs)

Zn(E: a. nottrue b. not always true c¢. not important

d. not relevant e. solved easily f.  the opposite

BER5,
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Task 2. REwmDTRIRDME

Lesson 5. REFDILH

T DR TIE. because DEICANDANERIFNARITTNET ., TNTN. EREHSEY)
RERZRORSVGRECH I DIETERDEREAD, KAETHRIETTFEV), &R
DOR—Z(CHDFET,

1) [GmeE]

[EEIRA%]

d. not relevant

a. not true

“Cats are better pets than dogs”

b. not always true C.

not important

e. that'’s the opposite

You said cats are better than dogs
@ | because cats eat less than | butthat’'s[ ]| because it won't cost a lot to feed a
dogs, saving money for food pet, whatever it is.
@ | because they are more lovely | but that’s[ ] | because some people think otherwise.
than dogs
® | because cats live longer than | butthat’s[ ] | because my sources say dogs can live
dogs longer than most of the cats*
@ | because I like cats and hate | butthat’s[ ]| because your personal tastes has
dogs. nothing to do with the pets in general.
® | because we do not have to | butthat's[ ]| because that means cat owners lose
take it for a walk every day. the chance to have exercise every day.
*E: BRCERLDFIN . EREFNRSFISE RS I2FEELEDSTY,
2) (5] “We should remove vending machines in high schools”
You said we should remove vending machines in high schools
@ | because they make us waste | butthat’s[ ] | because it also gives us the chance to
our money (B#EE7]) | learn how not to waste money
@ | because they are dangerous | butthat’s[ ] | because we can fix them firmly on the
when we have an earthquake (#B#EER) | wall so that it won't fall down.
® | because elementary schools | butthat’s[ ] | because elementary schools have
do not have them. little to do with the topic.
@ | because they use electricity, | butthat’s[ ] | because removing them will not solve
causing global warming the global warming.
® | because vending machines | butthat's[ ] | because it rarely happens
jam and take our money (1B&EEm)
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An Introduction to Debating in English Book 1

Task 3. RimZzIDIA—NXWV hOEHZ

TFoFE®RZFHAT. TNTNEHRRGHEEZI CHELL D, I TIFHIRD 5 DD/ —
SEFECAVWT, ZNTHISTERVVBEREITEHRZRE > TRELTT V. BEXD0EEMEE
BHRCHDFERIT, BEXAEOETE. TOIA—TY RNEFOTERZRKRSETTE0,

(1) We should not eat ice cream because eating it makes us fat.
(2) Fireworks in summer festivals should be banned because they are noisy.
(3) Zoos should be abolished because they treat animals badly.

(4) English should be taught in elementary schools in Japan because so many
people in this world speak the English language.

(5) Cats are better pets than dogs because cats can catch mice.

(6) Nuclear power plants (J[RF/%&EFR) should be constructed more because
they would cause little environmental problems.

(7) The Japanese government should stop its space exploration program (&8
BHFEETIE) because it is a waste of money.

(8) Children should not use the Internet because there are so many bad
websites that give bad influences on them.

(9) Tokyo should host the 2016 Summer Olympics because it would give
economic benefits to Tokyo.

(10) The smoking of tobacco should be made illegal because smoking is
unhealthy.

BGROFERRAIA -V b

Let me refute the argument number [ ] (ci#s#mat 2 s 2anz 1),
They said [Riw9 DEmADERI] but it is ( ) because

That's all. Thank you. («&%b=. codu 89 n R ENBh - v s R EAREMBUET).

Task 2 OOfFZAH:
1)Dc @b ®a @d ®e
2) D abc(#E#HEZE) @ abcHEHEZE) ®@d @ c G ab (#EHEE)
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Lesson 5. REFDILH

Task 4. ZFmiED &ERm

TNTIZRIC, Lesson 4 TYEDAZZFATZ. 5 DDEZR CHERESNICERICHT U TRAEL TH
FULD, UTOHmENS 1 DEW. EmZx 1 DEALAE—FEHRLTTFIL., R7%EHHE
ATHBEVOREBUEAE—FEHERULEIC. ERICRRUTH TSV, RE—FHHE
DBE(C. ZOFEMBICK UTEARRBN S DBINSMELETEZTHTFE,

[Theme A] Funny Speech

(1) Chief inspector Zenigata (#H2Z8P) should not arrest Lupin the third (JL/\
>3 ).

(2) Black Jack should not ask too much money for his operations.
(3) Ran (EFIET) should forget about Shinichi( TEEHT—).
(4) Ms. Megumi Noda (D7Z&) should learn cooking before studying music.
(5) Shizuka(L3"h") should not get married to Nobita but to Dekisugi (H3£4%).
(6) Nobita (DTFK) should not get married to Shizuka but to Jaiko(Z+ - F)
(6) Igo (EE)should be played in the Winter Olympic Games.
(7) Soccer should be played with two balls.

(8) Having a boyfriend or girlfriend is a waste of time.
(9) The United Nations should develop Evangelion (ABLREKEEZT 7> 4" A).

[Theme B] Children & Education
(1) Parents should not physically punish children even for educational purposes.

(2) Children who have finished compulsory education should be given the right
to vote.

(3) Playing with friends is more important than studying for elementary school
students.

(4) Advertisements that target children should be banned.

(5) Child labor is a necessary evil for developing countries.

(6) International adoption should be banned.

(7) Child actors or actresses should be prohibited from working on weekdays.

(8) Having a younger brother or sister is better than having an older one.

(9) High school students should not have a cell phone.

(LomENEUVMBZEE. EROHEENSEATTSY)
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B Lesson 2. &i# (Refutation)

[Sec.1] RE@DIA—<w bk (Forms of Refutation)

a [Step 1] Understanding the form of Refutation

At the end of this section, you are to refute arguments.

First, we will learn useful expressions for refutation.
oo a>OREIC. W DHDER\DRHEELTESWVET, £9
F. RIDLTHERDZITIA—NY FEFUFELLD,

Using the words in the list, fill in the blanks in the box below.
BITFOHEFEY R hfE> T, TORY I AANDZEFRZIBDTF S0\,

Words List: [ important / always true / relevant / the opposite / true / solved easily]

—[ & The format for refutation (RO I A—<X W ) ]

RIS FoLE | said - (ENDBRiRY DREDER)

However, this is

[ @ not ( ) TELLBDEEAI
@ not ( ) TOWDBELWEFRDETA
® not ( ) [BEETEHOETA
@ not ( ) TBfRBODEEAL
® ( ) [BBCHRAENET ]
® ( ) WTY

7

m [Step 2] RE@D I A —~NXW BZHES (1) (Using the form of Refutation (1)

Complete the following dialogues by filling in the blanks. Use the expressions above.

(1) A: 1think we should learn English because it helps us communicate with
visitors to Japan from overseas.
B: What you have said is not ( ) because some visitors do not speak
English at all.

(2) A: 1Ibelieve students should be allowed to bring portable video games to schools
because they can enjoy their school lives by playing with them.
B: Ithink thatis not ( ) because school is a place not for having fun
but for studying.

19 61
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m [Step 3] REDIA—XW bZFES(2) (Using the form of Refutation (2)

@ FI. TNTNEHRROSED D ERATT S,

@ ZzD#%. HEDZHICEKTEHDED [12E25~] ZBAETEVTTF SV, REIDRETRIES £H5idH
ERTESWVWET, * ENM 1 DEFHFER. EWSDITTEBDERA. [IRERS~] OEDHYEDT
WEDZEAT TSN,

1) RBEDHAZRHER (CETTZBNIKERD T, YEBBOBIMEWNEFED Z EFTERR,
TN :

a. not true b. not always true c.

f.

not important

d. not relevant  e. solved easily the opposite

ANCHAVER

2) FRARZE I E&E EFICERRA ML RZEZ DT, PHRD. @marziE)

a. not true b. not always true c.

f.

zZNni&: not important

d. not relevant  e. solved easily the opposite

ANCHAVER

3) ERAHDOEBEZHT ZE(F. EENBEFEBZI DI EDWHITFICIRBDDT, PHILS,

a. not true b. not always true c.

f.

N : not important

d. not relevant e. solved easily the opposite

ANCAVSN

4) FEEBERY hOEFEEEBEALETERVDT, FEEMNRY hMEFDTEZEETEIELKRS. @msrsmm)

Znlg: a.nottrue b. not always true c. not important
d. not relevant  e. solved easily f.  the opposite
ANCAVER

5) BRI BMEECANTRENICIDRE, BMEFDLTHD. BMEIFRLELUXD. @sxs)

a. not true b. not always true c.

f.

N : not important

d. not relevant  e. solved easily the opposite

ANCAVSR

6) NEANDBANREREOFHTEG, BARBEENMNDDDTLHLS., wimrs)

ZNni(d: a. nottrue b. not always true c. notimportant
d. not relevant  e. solved easily f.  the opposite
A T
62 20
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w [Step 4] RERD I A —X W bZEDS (3)Using the form of Refutation (3)
Choose the most appropriate key phrase to complete each of the refutations below.
UToR@ATE. ZORENESHEED TLDIOMNRNCIEHT IRI/NMRITTVET., TN
ZH BERENSEYREDEENREV,. BEXIF—DEEFRDEEA.

[i®Rf;] a. nottrue b. not always true c. not important

d. not relevant e. solved easily f.  the opposite

1) (i®#&] “Cats are better pets than dogs”

You said cats are better pets But

than dogs

@ | because cats eat less than dogs, | that's because it won’t cost a lot to feed a pet,
saving money for food. [ 1] even when it eats a lot.

@ | because they are more lovely | that’s because some people think dogs are
than dogs. [ ] more lovely than cats.

® | because cats live longer than | that's because my *sources say dogs can live
dogs . [ ] longer than most cats*

@ | because you like cats and hate | that’s because vyour personal taste has
dogs. [ ] nothing to do with pets in general.

® | because we do not have to take | that’s because that means cat owners lose

dogs for walks every day. [ ] the chance to have exercise every day.
*E: BHECELODFIN ERFNI(FISF REF12FRELZEDSTY,

2) [;®@=&] “We should remove *vending machines in high schools”

You said we should remove vending

machines in high schools But

® | because they make us waste our | that’s because they also give us the chance
money. [ ] to learn how not to waste money.

@ | because they are dangerous that’s because we can *fix them firmly on the
when we have an earthquake. [ ] wall so that they won't fall down.

® | because elementary schools do not | that's because elementary schools have
have them. [ ] little to do with the topic.

@ | because they use electricity, and it | that's because removing them will not solve
causes *global warming. [ ] global warming.

® | because vending machines *jam | that's because it rarely happens.
and take our money. [ ]

5B3E) sources: 'BHRIE  vending machine: BEIRFGHE  fix firmly: LoD EEET D
global warming: HBKRE(L  jam: (O30 >7RREN) DFED
21 63
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[Sec.2] URZ>7J#& (Listening Comprehension)

m [SJCGP 11 RE—FDBEZED (Listen & Answer)
our teacher will make an argumentative speech.

Listen and answer the questions below. You will listen only once.

Hello everyone. Today, I am going
to talk about the issue that is important

to every student ~

(1) What is the main topic of the speech?
a. summer vacation b. summer memories

c. homework assignment d. difficulties in life

(2) How many reasons did the speaker give to support his or her idea?
a. one b. two c.three d. four

(3) What is the problem students in Japan are facing?
a. Summer homework is too easy.
b. Students in Japan are not studying as hard as they should.
Cc. Summer vacation is too short to enjoy.
d. Students are too busy studying to enjoy the summer.

(4) According to the speech, what kinds of things can you do if there is no summer

homework?
a. We can catch fireflies b. We can go to firework festivals.
c. We can face our desk. d. We can study harder.

(5) According to the speech, why is having good memories important?
Because they give us the courage to face difficulties in life.
Because we do not want our lives to be difficult.

Because we want to enjoy studying.

o 0o T o

Because good memories are important in themselves.

64 22.
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m [Step 2] RE—FDOEEED Listen & Answer (Second try)

Now, listen to the same speech again and fill in the blanks in the speech script below:

Structure (#85%)

Speech Script (A E—FIEHF)

Greeting (HLYED)
Introduction of topic

Hello everyone.

(1

Today, I am going to talk about the
) that is important to every student in Japan.

(hEYDDHA) It is about the homework assignment for the summer
vacation and I believe we should have (2 ) summer
homework assignment.

Showing the structure of | [ have one reason to support my idea.

speech (R E—FDIEMRDIRTR)

Signposting (FEERMD&HI)

The reason is “better summer memories”.

situation (FRRDHT)

Example (BE4&4)

Analysis of the current

Nowadays, students in Japan cannot enjoy their summer
vacation and have good memories. This is because they are

given too much (3 ) assignment.

For example, you must have only the memories of

(4

week of the summer vacation, because you had to finish your

) this summer. You couldn’t enjoy the last

homework. You wanted to enjoy the (5 ) days of

the vacation, but you couldn’t.

Explanation of how

the

However, if we have no summer homework, we can enjoy

Further explanation
HNDERRA)

(&

problem will be solved. | the vacation (6 ). This is because you can have
(RIREFRRODLHEF) more free time
For instance, you can go to (7 ) festivals on the last
day of your summer vacation instead of sitting and facing
your desk. I believe it is quite fantastic.
Explanation  of  why | Why is it important to have fun during the summer? This is
solving this problem is | hacause we can have good memories. Having good high
important. . .
school memories gives us the (8 ) to face
(MREDEZEH)

difficulties. We face difficulties in life.

extremely difficult to (9

We may find it
) them. However, if we

) that our life
So, good memories are

have good memories, we can be (10
is good and it is worth fighting for.
quite important.

Closing (#&1DDRE)

For this reason, I think there should be no summer
homework.

23 65
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[Sec.3] RimD#EZ [Practice of Refutation ]

n [Step 1] RE—FhInDRHE (Refuting the Sample Speech)
Prepare refutation to the speech on page 23. 23 R—DRAE-F(CHITIRBEAELT. BX
IRIABZLTTFEV, —BEBRENEHRIENERD. MR 1 DOFHZID LIFd L,

~[ & Format for Refutation ]

@® Indicate the beginning of your refutation (&R:&DBIIBDEE])

@ Summarize the argument you are going to refute (CNH' SRR DERBDERN)
® Briefly point out what is wrong with the argument (G&iRDORIEDERINET)

@ Explain why the argument is wrong (3&iRORIERDEREA)

® Indicate the end of your refutation (REEDIENDDER)

B Format for Presenting Refutation (ROEEXAITA - v )
Let me refute [ his / her ] argument.
[ He / She] said [

Therefore, [ his / her ] argument does not stand. Thank you.

n [Step 2] RIEDZEMDREE (Refuting your friends’ arqguments)
Listen to your friend’s argument, and deliver refutation. #h&k7ZE5DIAE—F (EHDIE—
FFRARTESIZED) ZENT,. TEOADRE—F(ICHUTZDHB CRGBZEDF UL D. HNDAE—F
RN, EENBETAE—FZ/EDET,

B Format for Presenting Refutation (RiaDHERAIA—< v )

Let me refute your argument.

YOU SaId [

________________________________________________________________________________________________________________________________ ]

However itis( ) because[
__________________________________________________________________________________________________________________________________ ]

Therefore, your argument does not stand. Thank you.

66 24
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n [Step 3] RamEBEVWCEERLLDS (Further Exercises)

Prepare to present a refutation to one of the following arguments assigned by your

teacher. Use the format below. UTFD&ERDD 5. TEMEELEEDICDVWTKRGEER, BERL
ESEIR

(1) We should not eat ice cream because eating it makes us fat.

(2) Fireworks in summer festivals should be banned because they are noisy.
(3) Zoos should be abolished because they treat animals badly.
(4) Cats are better pets than dogs because cats can catch mice.

(5) Children should not use the Internet because there are so many bad
websites that have bad influences on them.

B Format for Presenting Refutation @ (R#BDEEXAITA—< W )

Let me refute your argument.
You said [
________________________________________________________________________________________________________________________________ ]
However thisis( )because [
__________________________________________________________________________________________________________________________________ ]
Therefore, your argument does not stand. Thank you.
m Format for Presenting Refutation @ (R#mDFEEXEAIA—< W )
Let me refute your argument.
You said [
________________________________________________________________________________________________________________________________ ]
However thisis( . )becausel
__________________________________________________________________________________________________________________________________ ]
Therefore, your argument does not stand. Thank you.
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& YILBADANICHENDDREEE) [Summary & Refute]

Summary & Refute EWVSEREEHAFDRET « N— NI CTERSINITHEEB A EZ BN
LET. UTOFIEZEHM; ROR—ZDRIEZFE > THEBLUTHEL L D. AEFIAEIC
IRNBIzHIC. BAREBETIY D TH TS,

1AB(ERA)
(1) BRI LWL iE#RZ 1D
(2BB] RATIR DT

7N

3ANE (EEM) 2AB (=)
(1) BIDRAE—H—DHERDOEN & KR (1) FIORAE—H—DFERDOEN &G
d (2) BRI LWLERE 1D (2) B3l LW E#RZE 1D

(FIE) \/

@ 3 ADII—-T=ED. HwEE 1 DEVET,

@ #m 1 AEEAIC, BEED CERA. RMAEREICEDIEDEY,

@ #HEEMES5RT. I<AE—FaIAHET. EAlD 1 ABN. REEEEIIHRE 1D
HUFET. HBFOEEZEPALHNT. FEEIKRHET D ENEBOIENRDOT. A
DFR+PRFERTEBVERA. DUS. HHSSTHRICHNLLVERZL U THRENRHE LT
WESICUEBNTURERLRDED EADET)

@ RMPID 1 ABHFIOADZEREETENL. RICKALET. TUTEERDZERE 1 D
LET,

® #Eflo 2 ABH. &3l 1 ABD#FH UWEREITE (1 ABADKG®RIEBH T 20E(EH D
FLA) BHL. RABLET. TUT. BERIDHFLLERE 1 DHLET.

® 1 IEEA OO BE. Bl RIAIDIHSH EENCENDET. DEDFERAITH
BN RHAICRDET, 2IBEMRDIETHITET. (1BEDDICRE—FEUEZAD.
BRIDADR /% LU TRNHDTY)

*Summary & Refute (&, 3 AWNIEWDTEECTEAREIMEERTY ., I=ERFBMER DI T, HERBET
E<EAPDTLZE0,

- ¥ eeEsE -

68 26




22

[ Summary & Refute FRIRE ]

& First speaker (On the Affirmative) / 1 AB®DA (GEHf)

Greeting Hello everyone.
Motion The motion before us today is ~ .

I strongly support this motion.
Signposting | My argument is ~ (GERORH U &722&5E9).
Argument (HRIBLEITERCEERDZ R ZRALET)
Closing Therefore, I beg to propose. Thank you.

¢ Second speaker (On the Negative ) / 2 ABDA (HEM)

Summary The previous speaker said that ~ (IBRIDAE —H—DZEiwDERN).
Refutation However, this is
[ not true (doubtful) / not always true / not important / not relevant ]
because ~
Therefore, his (her) argument does not stand.
Signposting | Let me move on to my argument.
My argument is ~ (FmDRE U L/ %5E0) .
Argument (HRBIZITERICEERDZm A LET)
Closing Therefore, I beg to oppose. Thank you.

¢ Third speaker (On the Affirmative) / 3 AB®DA (SEfl)

Summary The previous speaker said that ~ (BRIDXE—H—DEABDEL).
) BRIOXE—H—0DH L/EWE%"J LEI. ERIDOX
E—H—Di7> tgj@%(ﬂﬁﬁsﬁﬁﬂiﬁ/m
Refutation However, this is
[ not true (doubtful) / not always true / not important / not relevant ]
because ~
Therefore, his (her) argument does not stand.
Signposting | Let me move on to my argument.
My argument is ~ (EmDOREU L/ %:E0) .
Argument (HRB TR ICEEADZm A LET)
Closing Therefore, I beg to propose. Thank you.
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& pPart3 PBFOERICHIGT D / Section 2 [RFDIA—< W K]

L

1) ERNRRERD I A - b
FRimzBLDLC[F. FITUTD 5 BEDKGDEZFINDICERTHTLEEU)

-{&ﬁw£17t—?wh]

@ Not true (IIELL<HBDFEAD

@ Not always true ([WDHBIEUWEFRDEEAL)

® Not significant / important ((EET(EHDFEEAL)
@ Not relevant (B DERLEA)

® the opposite (FTY)

7
Fiwaed2 LS. FITRFMNE>EZLZENL., AICDONWTRHBZ T DDOMNASHI(C
LTS, [OOSTAIF~EENELEN BNUFENET . BERS~EMNSTI] &
WO TR@mZ LEL &L S

B REROERRAIA -V b

2) BFEDRVAHZIERT D

EDTA =Ty FTEFSHATERWMES, TOTA -V v MEEVRERZERA T TES0. FF(C,
[APEZ D LRICBAEE D] EVWSERBMFEZAIRLU CRIALTLDHE, TORHREERI S

EFETERMBRGRICIRDET,

| WFOHROME - BOABEIEHTS |

However, it is not true because it is based on the assumption that ~.
[MESDFRIE. ~EVWDBLIAHCEDWVWTSED. ELLHDFELAI

23



& Part 3 HFDOBR(CHISTS / Section 3

[EVTT A= K]

EEDT 4 N— bDOHAETIE. BREFOERICHISTDIHENSHDEFT . TDHDHETY.

(FIE]

O RVZEFATTFEV. BRRERICTUT, 1 ADARNENZEES DEmzE=EI.

@ EEFEOO1E5. = F—CBEULTZDER\DRBEENTEWET,

® MEBRUTEL., ZORMICHUTSEVNNRELTLZEWN
(CoEmZEIL CBEY Z&(E. reconstruction EMFE(ENET),

@ )\— M+ —(EZD reconstruction ZRT. Evaluation O(CEHIEEEALET . argument
& reconstruction %z, 1 2] 2 [FhFdb
Flz, OXAD MEEEBNEARBTENTT S,

3I9CV! | DO3ERETIHMAEL TR0,

FEECE. TNTN 1 DEREOKBFIRZDITET. ERELT. UTORICEMZIEHTN S

EICIRDFT
O Motion: (SCCMEEEUEY)
Argument Refutation Reconstruction Evaluation
7@ L 18 O Argument
RniBss | nEF
24, ReENnER \ [ 1 2 3]
LT REFE | 9 ;
Z o 1touide | EouTloatREe O Reconstruction
LT . 8hnkERs [ 1 2 3]
2 TELTCEF e | 5 comment:

a4y s EOTR
S X do

[example] <& Motion:

Doraemon should go back to the 22" century forever.

Argument

Refutation

Reconstruction

Evaluation

This is because his
tools are so
dangerous. For
instance, if
Dokodemo door
is stolen by a
tervorist group,
no one is safe
anymore.

This argument is
not important
because if
anything serious
happens,
Dorami-chan (s
sure to come to
help us.

We are not sure if
Dorami-chan can
always come to
help us. We must
defend by
ourselves. The best
way is to send him
back to where he
is from.

O Argument

(12037

O Reconstruction

[ 13 ]

O Comment:

FasnNkount
LR iR 7

24




Debating on Paper

<> Motion:

Argument Refutation Reconstruction Evaluation

O Argument
[ 1 2 3]
O Reconstruction
[ 1 2 3]
O Comment:

< Motion:

Argument Refutation Reconstruction Evaluation

O Argument
[ 1 2 3 ]
O Reconstruction
[ 1 2 3 1]
O Comment:

< Motion:

Argument Refutation Reconstruction Evaluation

O Argument
[ 1 2 3 1]
O Reconstruction
[ 1 2 3 ]
O Comment:

25
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& pPart 3REWZEID / Sec.4 [Summary & Refute]

MO THEIUERIE. OBETHEEZITVET . Summary & Refute &WVSEBREEH
KFEDRET A N— MNP TERSINHEBAETT . UTOFIEZFRH. ROR—Z0D
FKREZFOTHIELUTCHFELL D, RAIIFIRCIENBIEHIC,. BRETP®PDTHT
<IZELN,

1AB(ERkA)
(1) B BIDF UL ERZ 1D
(2] AR DT

7N

3AE (EEAD 2AB (B
(1) FIDRE—H—DEHRDEN KR (1) AIDRE—H—DFERDEN &K
(2) BREBIDFH L WEHR%E 1D (2) RAHRIDET L WER%ZE 1D

() \/

@ 3 ADTI—T=ED. fwlEE 1 DEVET,

@ M1 AERSAIC, BEHmO (CE/RAL. RIAIEZECEIDIRDET,

@ #EERE5XT. T<RE—FHMBHET. EHAID 1 ABH. REESTEIIHAE 1 DHUE
T, (BEDFEEPALHENT. FBRIKRHET DT ENMEEOTENRDOT. RADR+HRE
RTHBOERA. DUB. BNSIRCHHUVEREZH U THEFEFIRGRZ LT VLS CLEALT
SIRBRLBRDED ENDET)

@ R 1 ABHBIDADEREZTTENL. RICRHBLET. TUTEERDERZ 1 DHUET.

® =l 2 AEH. K3l 1 ABOFUWERL % (1 ABAORRITEN T ZHEEFHDEEA)
BHL., RMLET. TLUT. BEAIDFLVERE 1 DHUET.

® 1IEE OO IEIBE. EiflERABIDIISH EENCEND XY, DED FERAITH > IZEN.
REHICIRDET . 2 IBEIMMERDZETHITET . (1 BDDOCAE—FEUEAN. BERIDADKH
ZLTERNDOTY)

* Summary & Refute (F. 3 ALWVUIWDTEEZTERRRIAMEE T, IEHBHMZERDIT T, HK
BIEFIESETAPOTLIEEL,

- BF e -
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[ Summary & Refute RIRE ]

& First speaker (On the Affirmative) / 1 AB®DOA (S7EM)

Greeting Hello everyone.
Motion The motion before us today is ~ .

I strongly support this motion.
Signposting | My argument is ~ (GE#RDORH U LD &5E49).
Argument (ERB3 SR CEEADERZHRIBULET)
Closing Therefore, I beg to propose. Thank you.

& Second speaker (On the Negative ) / 2 ABDA (FEHR)

Summary The previous speaker said that ~ (BRIDAE—H—DZEBDER).
Refutation However, this is
[ not true (doubtful) / not always true / not important / not
relevant ]
because ~
Therefore, his (her) argument does not stand.
Signposting | Let me move on to my argument.
My argument is ~ (GERDRH U &1 %5E7) .
Argument (HRDEZITRGRICEERDERZHRBLET)
Closing Therefore, I beg to oppose. Thank you.

¢ Third speaker (On the Affirmative) /3 ABDA (S%Efl)

Summary The previous speaker said that ~ (BRIDAE—H—DEBDERN).
) Eﬁﬁ@xﬁ—t—@tﬂbtmgﬂbiﬁo L]
@XE—b—@ﬁDtg@gﬁgz@@%%ﬂiﬁho
Refutation However, this is
[ not true (doubtful) / not always true / not important / not
relevant ]
because ~
Therefore, his (her) argument does not stand.
Signposting | Let me move on to my argument.
My argument is ~ (GEmDRL U E72D%5E9) .
Argument (BB EZITRFRICEERDRERZHRIBLET)
Closing Therefore, I beg to propose. Thank you.
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C

& pPart 4 fHEREHEZITSD / Sec.l 1 AN1EDORERR]

SEED

EAMENTRBBHERD LS CRNE, BEFEREERTHEIELUTRELAELL D, mBEEZENH 1
DB, UTDFIETHEELTHELL D,

[EMAE] 6 AN (1F—A3AN X 2F—L4)
[1EACh D D] MR 5 2 + HEIERH 6 92

(1 A 11&DiER]

Government Side Opposition Side

ahsiE GRERRN SHERINET 10 DEEE)

(1) Prime Minister(PM)

- New Argument 1 DiER \ (2) Leader of the Opposition(LO)
A o
- New Argument 1 DiER

A

(3) Member of the Opposition(MO)

(4) Member of the Government(MG) // - PM DO U35 RS

- LO D UTZE R (C DA

\ 4
(5) Government Whip (GW)

+ MO DRFHICH LTI TEL \\

(6) Opposition Whip (OW)
- MG DRERICHUTIZITEL

& Zofd)L—IL

« AE—FOEBICEMFEIEERITEFA (WETHNE. 1 DBEREEEIFTTFELY).

- AVWBimEIE. TOFRFAENLRDIERNREDEFENET,

- BRE—FORREIE 1 PEUIATY, 1 DRDEL D5, FIRFENERDDZFI
9. RDODRAE—H—DRAE—FICEDFET,

- BB, KOMEBOWERZERUIZDIEESSDF—LRDTENTS v v SEDAIC
ROTESWVET,

- AE—FEEMHELD T, Point of Information (FIXLICLET,
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m (1) Prime Minister & (2) Leader of the Opposition ®XXE—F

= Part 2, Section 2 & Section 3 DI A —X WV hEZNENED> T ZE0,

m (3) Member of the Opposition & (4) Member of the Government DX E—F
UFDIA - hZEED>TIZE,

[Refutation (&&w) AT A —< W ]

Hello everyone. Let me refute what the opposing side said.

They said [

That's all. Thank you.

m (5) Member of the Opposition & (4) Member of the Government DX E—F

[Reconstruction (RGRSNIEC EDIITCEUL)AEIA—X WY K]

Hello everyone. Let me reconstruct our argument.

They refuted our argument by saying that

Therefore, our argument still stands.

That’s all. Thank you.
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